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. Gqibezela.

1 4+ 4= kunye
no-8 —4 =

2 7+ = 14 kunye
no-14 — =

3 3+ = 6 kunye
no-6 — 3 =

4 5+5= kunye
no- -5=5

5 6+ = 12 kunye
no-12 -6 =

6 + = 2 kunye
no-2-—-1=

7 7+7= kunye
no- -7=7

8 2+ = 4 kunye
no-4 —2 =

9 + = 20 kunye
no-20 — =10

1015+ 15= kunye
no- -15=15

Ibanga 2

¢ lkota 3

lveki 7 >
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. Bhala amanani . Gqibezela iipeteni.
amagama. 1 10c¢; 20c; _ ;  ;50¢; 60c; _ ; 80c; 90c;
17 2 ; 20¢; 25¢; 30¢;
2 2 3 R20; R40; __ ; R80; R100
3 14
4 R2; R4; R6; ;
4 22
5 R10; ; R8; ; ; R5; ;
5 38
6 RQO; R]8; R]é; H H
6 54
7 67
Ggqibezela.
6 84 Gq
70 17/ 13 12
1075 v
19 3+ 1|15+ 2] 110+ 3|11 (+1 1

. Bala amachaphaza.

1 ___amachaphaza
2 __ amachaphaza
3 ___amachaphaza
4 ___amachaphaza
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